[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035

.........................

o F
%0.035— -------------------
0.025;— -------------------
0.02F -+ b
0.015F -1+ RSN 1. 30 S
ook HIAL I
C | | e
0.005;—---- PR 3 NN UURELIUI B N R
o OFrftt sl il
® 12 A b A A e
o [ I+
1:—'P £ ML D U .
ok (4

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_original_stepZ_tibar-phasel-newgeom
mkFit_step2_ttbar-phasel-newgeom

—e— DQM_]
ici —— DQM_angle_step2_ttbar-phasel-newgeom
Efficiend —+— DOM fast_step2_ttbar-phasel-newgeom

N 0.2r
U e S E prreneeeee preen
[ C . . . . .
L S Rt MU ST
> C . . . . H
g L : : : : :
L e A S
R . : . : .
R Rl A S ST S
o L : : : : :
R TRiii] LA TR SRS S
0.08F -+ ieeenes e Breeeedene Beeeen
0.06F-++++wi-en- oo Beseesdeees B
O I SHON UM RIS SRS
0,02+t TR SO
E g b
9 O-l 1 | 1y | dh | P | 1y | L1
FRRE SRR TR B 1111111 S
e F : : - : :
S A DUTEITLL = s
°85 =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~0.05F :
> F :
50_.045:— :
S E :
'(7)0.045— :
$.035F :
3 aF :
£0.03F :
o E :
9.025F :
© E :
0.02F
0.015f
0.0 :
0.005F+4--- UL S I N A
Y T UL PN FURY FPRY FVET PR PO PO
& 1.1;— ------- p N A 8 N S
s
X SSRREANRS 3 B8 ) 10 5 I B 4 B B S A
°5586 -4 -2 0 2 4 6 B8 10

Sim. PV z (cm)



	Contents
	Page 1


